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4050 7K EHT 0 398
4060 E5Z4 HAT 0 350
4070 JtJRHET 0 163
4080 =;T;HAMT 0 213
4090 55 jERHT 0 324
4100 g FFOAT 0 140
4110 JtFFET 0 147
9999 &M XET 0 2541
4510 EREE—ZEHT 0 684
4520 EREE—ZEHT 0 166
4530 EREE =Z5HT 0 160
4540 EREEIUZEHET 0 112
4550 EREE R ZHT 0 112
4560 EREE/NEHET 0 69
4570 EREEHZHET 0 105
4580 EREE/\ZFHT 0 81
4590 EREE N ZEHT 0 101
4600 AR+ ZHT 0 105
4610 EREE+—ZHHT 0 116
4620 AR+ —FHET 0 192
9999 AREFERXET 0 2003
5010 BBF0 H EET 0 189
5020 RRF0BAELET 0 142
5030 RRF0[RI{—HT 0 173
9999 RRFIMXET 0 504
5510 b R HET 0 205
5520 = HhHET 0 581
5530 FA=HT 0 436
5540 wy ZERT 0 249
5550 EFEHT 0 69
9999 iR X &t 0 1540
6010 [E]ET/NER 0 88
6020 [EHET o 0 108
6030 FEIRT &I 0 93
6040 Bz FFHT 0 196
6050 JI|EHATE 0 139
6060 JI|EHATF 0 117
9999 FEERXET 0 741
6510 HZEAFBHET 0 23
6520 H &= A KIEHET 0 176
6530 HZEAFTHET 0 116
6540 HZEAILUTHT 0 144
6550 B =AM 2 NET 0 70
6560 HZEAIEILET 0 116
6570 H R AIEFHT 0 123
6580 HZAEHT 0 69
6590 HZEARKMET 0 32
6600 B Z A HHT 0 63
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THRET(KF)a—F {TERET (K=F)4% 1000k AOF

6610 HEA L FGHT 0 46
6620 HZEAF T 0 33
6630 HZEA T FMAT 0 77
6640 HE A EitslT 0 33
6650 B ZASHET 0 3
6660 HZ A RLHET 0 20
9999 HEAKRXE 0 1144
7010 — &M O ET 0 150
7020 — R AHT 0 221
7030 — R FR#AHET 0 82
7040 — BT KEFHT 1 177
7050 — R 7 H I ET 0 101
9999 — R&XEt 1 731
8011 SRAETFGHERLY 0 50
8012 IR AHTFHERA 0 121
8013 Y AHTFEER (& 0 72
8021 R AHETZFEKLY 0 73
8022 IR AHTIE/KA 0 3
8023 IR AHTIEKIL 0 4
8031 JRAHTH ALY 0 136
8032 IRAHTHAA 0 8
8033 FAETH AL 0 22
8041 R AETHELIFZL 0 51
8042 R AHETELIFA 0 26
8043 IR AHTELIR L 0 13
8044 YR AHETHELIFIZ 0 23
8045 IR AHTHLIR (X 0 38
8050 IR AHT A 1 107
8060 IR AHTFT 0 104
8070 AHTER 0 81
8080 Ik AHT &k 0 42
8090 I AHTH;EE 0 37
8100 JRABIH/{% 0 11
8110 IRAHTJII 5= 0 32
8120 R ARHETERER 0 67
8130 JRAHETH Lt 0 71
8140 IRABTEFRKT 0 110
8150 IR AHTEFRK L 0 81
9999 IRARK X ET 1 1383
9010 F THTRKEH 0 563
9020 FTHTEER 0 394
9030 FTHTHEH 0 1240
9040 F THTHERRH 0 1293
9999 FT#XEt 0 3490
9110 SERT T H L 0 497
9120 $RATH L 0 221
9130 RETH B 0 148
9140 SFEET T4 1 394
9150 $RHT L§5 0 495
9160 SRHETER4T 0 705
9170 $ERTAH 0 873
9180 FRMETER 1 523
9190 #EHRTZ O 0 211
9200 $EHTEFIH 0 219
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9210 $RAT = H 0 360
9220 SEETHH 0 565
9230 $EHTE M 0 668
9240 $EHETIEE 0 267
9250 SEHETALFrith 0 545
9999 FEXET 2 6691
9310 E[FHET:AR 0 185
9320 E[ZHETAL 0 234
9330 FE[AT/INE 0 149
9340 R [ZHTRY 0 377
9999 H[G#HXET 0 945
9410 RETT & 0 366
9420 RHETHHE 0 218
9430 RETFER 0 142
9440 RETAEF 0 12
9450 RHETHEIR 0 20
9460 RET{_HE 0 31
9470 RETER 0 7
9480 RHETHER 0 59
9999 RKXEt 0 855
99999 &t 10 58409



